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QUESTION 1

The database is running in ARCHIVELOG mode. Examine the initialization parameters and their values set to enable
archiving on your database server:

LOG_ARCHIVE_FORMAT = arch_%t_%s_%r.arc
LOG_ARCHIVE_DEST_1 ='LOCATION = /disk1/archive'
DB_RECOVERY_FILE_DEST = '/u01/oradata’
DB_RECOVERY_FILE _DEST_SIZE = 20G

Which statement is true regarding the archived redo log files?
A. It will be created on the local file system.
B. It will be created only in the Flash Recovery Area.

C. It will be created in the location specified by the LOG_ARCHIVE_DEST_1 parameter and the default location
$ORACLE_HOME/dbs.

D. It will be created in the location specified by the LOG_ARCHIVE_DEST_1 parameter and location specified by the
DB_RECOVERY_FILE_DEST parameter.

Correct Answer: A

QUESTION 2

Which is true about the SYSTEM and SYSAUX tablespaces?

A. Both tablespaces can be used for temporary storage if no temporary tablespace is defined
B. Both tablespaces must be online for a database to be accessible

C. The SYSAUX tablespace can be made read-only but the SYSTEM tablespace cannot

D. Only the SYSTEM tablespace contains data dictionary tables

Correct Answer: C

QUESTION 3

You are managing an Oracle Database 11g database running in ARCHIVELOG mode. The Flash Recovery Area is
specified as the destination for the archived redo log files. You notice this warning in the alert log file:

ORA19815: WARNING: db_recovery_file_dest_size of 3221225472 bytes is 100.00% used, and has 0 remaining bytes
available.

What would you do to reclaim the used space in the Flash Recovery Area? (Choose two.)
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A. Back up the Flash Recovery Area.
B. Decrease the retention time for the database backup and flashback log files.
C. Manually delete all the archived log files from the Flash Recovery Area by using operating system (OS) commands.

D. Manually delete all the expired backup sets from the Flash Recovery Area by using operating system (OS)
commands.

Correct Answer: AB

QUESTION 4

Which two statements describe good practices for an application developer to reduce locking conflicts in Oracle
database? (Choose two.)

A. Avoid coding unnecessary longrunning transactions.

B. Allow the database to handle locks in default locking mode.

C. Always explicitly code the locks as per the requirement of the application.

D. Allow escalation of row locks to block locks if too many row locks cause problem.

Correct Answer:. AB

QUESTION 5

Examine the commands executed in the following sequence:

1: SQL> CREATE ROLE mgrrole;

2: SQL> GRANT create user,select any table,connect,resource TO mgrrole;
3: SQL> GRANT select,update ON sh.sales TO mgrrole;

4: SQL> CREATE ROLE ceo IDENTIFIED BY boss;

5: SQL> GRANT magrrole,drop any table,create any directory TO ceo;

6: SQL> GRANT ceo TO mgrrole;

Which statement is true about the above commands?

A. The commands execute successfully.

B. Command 6 produces an error because of circular role grant.

C. Command 5 produces an error because a role cannot be granted to another role.

D. Command 3 produces an error because the MGRROLE role already contains system privileges. The table created by
HR remains and HR still has the CREATE TABLE system privilege.

E. The table created by HR remains and HR can grant the CREATE TABLE system privilege to other users.
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Correct Answer: B
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